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AN sz JIsHE=3
=R, P Q

Hu: HO =9dlz WY 2 23
Sel MBI OFMMIIE N CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OsXiM & ZEHE2H W (A=)
42,750,000 42,750
OsESs3 fM0 SESS4H A (HazEZ
) 23,750,000 23,750
NEE B 2L 18,050 19,000 A 950
207 A&y 18,050 19,000 A 950
03 Al & 12HI 18,050 19,000 A 950
OXEYgY S B ZHAAY S W2 0o
AHE 2 18,050, 000 18,050
AEX HS A2 H SEAY 49,075 49,500 A 425
101 1A dl 41,000 40,000 1,000
M4 JI2ZHZEXNSES 41,000 40,000 1,000
Oolddl & 42" =S 41,000,000 41,000
207 A& H| 8,075 9,500 A1,425
03 Al & 12 HI 8,075 9,500 N 1,425
OsXM S MEME(0l&EZ) 8,075,000 8,075
PRAS L AT MY XA (HSHP) 62,039 58,878 3,161
= 62,039
101 @144 dl 41,000 46,231 A5,231
= 41,000
04 D12t Z2XEES 41,000 46,231 A5,231
OJES oL 2te 41,000, 000 41,000
= 41,000
206 M= Hl 21,039 12,647 8,392
= 21,039
01 =8l 21,039 12,647 8,392
OIS MW= 21,039,000 21,039
= 21,039
EAE WA I Y 114,200 117,000 A 2,800
101 14 Hl 61,000 60,000 1,000
04 JIZtHZ22XEES 61,000 60,000 1,000
Oz 2el & AIE XA 61,000,000 61,000
207 A RO H| 53,200 57,000 A 3,800
03 A& & 32 Hl 53,200 57,000 A 3,800
OXSEH ANE =AM L AL (0aE2)
53,200,000 53,200
HA AEE 4 2 MHiiJl= i 75,958 78,850 N2,892
101 1244 dl 21,000 19,000 2,000
4 DIt Z2XREES 21,000 19,000 2,000
Oa&Ea & THHHAF 22l 21,000,000 21,000
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207 A& H| 54,958 59,850 A4,892
03 Al & 11HI 54,958 59,850 N4 ,892
SEE L ANEHT WM (M=)
54,958,000 54,958
&S AFTE S0 Mol g 1,611,415 2,345,381 A 733,966
= 520,255
< 1,091,160
ADEE 2 H0IH &8 Jls WY 123,300 94,485 28,815
101 @124l 91,000 60,000 31,000
M4 II2HHZ22NSES 91,000 60,000 31,000
OADEE Y HOIH 21HHl & 4HEE S
91,000, 000 91,000
207 A RO H| 32,300 34,485 A2,185
03 Al & 1 HI 32,300 34,485 22,185
OANEHZ M (HaEd) 32,300,000 32,300
=g YO0l =& L MiY o 2 O 294,050 294,050 0
= 147,025
< 147,025
101 1A Hl 232,000 224,000 8,000
= 116,000
< 116,000
04 JIZHHZ2XREES 232,000 224,000 8,000
O8XEZA 2 N8 Q2| 232,000,000 232,000
= 116,000
< 116,000
201 L2l 4,000 4,000 0
= 2,000
< 2,000
01 At 22l 4,000 4,000 0
O MR2EE 22 S 4,000,000 4,000
= 2,000
= 2,000
202 o4l 6,050 6,050 0
= 3,025
< 3,025
01 = LH YI 6,050 6,050 0
OgER=d &3 odl s 6,050,000 6,050
= 3,025
< 3,025
207 A RO H| 14,000 14,000 0
= 7,000
< 7,000
03 A&l & 224l 14,000 14,000 0
OANEHT M= 14,000, 000 14,000
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301 LEHZ 38,000 38,000 0
= 19,000
< 19,000
12243 38,000 38,000 0
OJIE BAEE Y S 38,000,000 38,000
= 19,000
< 19,000
SE2Y AER SZANJIALHINE ALY 100,000 100,000 0
= 50,000
< 50,000
101 124 bl 20,000 21,656 A 1,656
= 10,000
< 10,000
M4 JI2ZHZEXNSES 20,000 21,656 A 1,656
OJIZtMZ2X s E= 20,000,000 20,000
= 10,000
< 10,000
201 Let24d] 74,000 72,344 1,656
= 37,000
< 37,000
01 At 22/l 74,000 72,344 1,656
OAtS 2teltl 74,000,000 74,000
= 37,000
< 37,000
202 oddl 6,000 6,000 0
= 3,000
< 3,000
01 = LH o4 1l 6,000 6,000 0
O=W0 bl 6,000,000 6,000
= 3,000
< 3,000
DEZE WAMAD s e 206,238 410,250 A 204,012
101 1A Hl 130,000 120,000 10,000
M4 JI2ZHZEXNSES 130,000 120,000 10,000
Ot E 22l L Al T At 130,000, 000 130,000
207 Ao & H| 76,238 90,250 214,012
03 Al & 11 HI 76,238 90,250 A 14,012
OANEHZ M (HaEZ) 76,238,000 76,238
JIZHS S dAS E=)|l= e 173,298 176,050 AN2,752
101 124 dl 121,000 120,000 1,000
4 JI12ZtHZ22XREES 121,000 120,000 1,000
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OOtEU&a=S ZF2e & AIEXA
121,000, 000 121,000
207 Ao &I 52,298 56,050 A3,752
03 Al & 12HI 52,298 56,050 A3,752
OANEHZ M= (0aEZ) 52,298,000 52,298
SAN=e 43 54,842 55,571 AT29
101 @124 dl 41,000 40,000 1,000
04 12t Z2XREES 41,000 40,000 1,000
OZANsSANSEZZ2e L AT A
41,000,000 41,000
207 Ao H| 13,842 15,571 AN1,729
FREEETI 13,842 15,571 A1,729
OANEHZ M (HaEZ) 13,842,000 13,842
SZMPZE 0|8 MUEE =4 125,788 130,250 A4, 462
101 14l 41,000 40,000 1,000
04 JI2ZtHZ22HEE = 41,000 40,000 1,000
OAMEZE & s 29 41,000,000 41,000
207 A RO 84,788 90,250 A5,462
03 Al & 1HI 84,788 90,250 A5, 462
OZZHIY L AEAR THE (0=
84,788,000 84,788
Zgelst AR 7,913 11,050 A 3,137
201 Let2d] 1,913 4,050 A2,137
01 AP 2teltl 1,913 4,050 A2,137
OFSI 28 ¥ da 2 (HE)
1,913,000 1,913
301 LA F 6,000 7,000 A 1,000
12JIE243 6,000 7,000 A 1,000
OsII8EX At 6,000,000 6,000
SUHILYSEIEANAE 2= 139,756 193,725 A 53,969
201 Let249] 89,592 89,592 0
02 =24l 89,592 89,592 0
OAMAH Sgael & d83ldz 89,592,000 89,592
207 A RO 2| 19,475 19,475 0
02 & AR b 19,475 19,475 0
OZHOIXl N & Sors/W 2 (ol atE )
19,475,000 19,475
405 RHoHF S HI 30,689 84,658 A 53,969
01 AL EZFH S 30,000 83,200 A 53,200
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FUHHE 4SS SEI MUiol= R

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OFBESAIAHE 30,000,000 30,000
02 TA 7| 689 1,458 ANT769
OSeiFe 9 DY CH PA(MLRE)
689,000 689
SAMEASETARA(E) 47,880 48,000 N 120
= 47,880
101 2121 d| 42,000 42,000 0
= 42,000
03 2INHA22XNHE %= 42,000 42,000 0
OASZAE U2t L 24 (ZL 22AH|)
42,000,000 42,000
= 42,000
202 044 5,880 6,000 N 120
= 5,880
01 2L Y| 5,880 6,000 N 120
OsdE ASEA gEFN 5,880,000 5,880
= 5,880
SMEASIMNSE(ANZIZA) 114,600 133,200 A 18,600
= 114,600
308 XX SHAHSOIH 114,600 133,200 A 18,600
= 114,600
01 AIXHMBAEXZ 114,600 133,200 A 18,600
OsdtE8 ASEA 248 N 114,600,000 114,600
= 114,600
NEsgIll=sd3Es N (T) 40,000 40,000 0
= 16,000
= 24,000
101 2124 4| 40,000 40,000 0
= 16,000
= 24,000
03 2IAHAZZXHE = 40,000 40,000 0
OXFES Mz&e BxX 40,000,000 40,000
= 16,000
== 24,000
NE=sAHI=HES XA (AZ) 52,000 52,000 0
= 52,000
308 XX SHHSO0IA 52,000 52,000 0
= 52,000
01 IXHHNIMNEXS 52,000 52,000 0
OXY9=sglles 823 XA 52,000,000 52,000
= 52,000
Ne=sglles FESXS(012H) 13,750 13,750 0
= 5,500
o= 8,250
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SA - ZE-B(EN) - NRAY - B S il &t o il
307 glz2tol & 13,750 13,750
= 5,500
< 8,250
04 DI2HHALALSE E X 13,750 13,750
OZFEst=sgel AMAH3 13,750,000 13,750
= 5,500
< 8,250
HU=gol A=A AL (L) 31,500 31,500
= 15,750
< 15,750
201 L2l 20,000 20,000
= 10,000
< 10,000
01 At 22l 20,000 20,000
OFE mols 2488 =% U HASE 7Y
20,000, 000 20,000
= 10,000
< 10,000
202 oddl 11,500 11,500
2 5,750
< 5,750
01 SLHOYI 11,500 11,500
OBE mols A8 HEAD X7
11,500,000 11,500
= 5,750
< 5,750
HA=sgo AHIczA A48 (A2) 31,500 31,500
= 31,500
308 XXM SO0l A 31,500 31,500
= 31,500
01 IXNHHBNEES 31,500 31,500
OBEHS AR 8% 24 X8
31,500,000 31,500
= 31,500
AOIHsS Ol e-HIZLIA ASEHE N2 (Z) 30,000 30,000
= 15,000
< 15,000
201 LBr2E| 20,000 20,000
- 10,000
< 10,000
01 At 2t 2l 10,000 10,000
SHENUANBHE L HMEE 2
10,000, 000 10,000
= 5,000
< 5,000
03 A2 Z Hl 10,000 10,000
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M Ho g€ g & B2
S 202 ASE S0 M= N (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OZFEs sgel s & #AM2E 10,000,000 10,000
= 5,000
< 5,000
301 LENZ 10,000 10,000 0
= 5,000
= 5,000
09 HALAHIX &S 10,000 10,000 0
O&¥Est=sdo 4 44X 24 10,000,000 10,000
= 5,000
= 5,000
AMOIH=s Ol e-HIXLIA ASEHE XS (AZ) 25,000 25,000 0
= 25,000
308 XX EHH SOl A 25,000 25,000 0
= 25,000
01 AXSHBLELS 25,000 25,000 0
O&FEst=sgel e-HIELIA ASESE N2
25,000, 000 25,000
= 25,000
HEE =sglls e 900,466 1,258,253 A 357,787
SsYEZE Sl e 205,788 210,250 AN4,462
101 @124l 121,000 120,000 1,000
04 JI2ZtHZ22HEE = 121,000 120,000 1,000
OAMEZZE & Ags 2922 121,000, 000 121,000
207 A&y 84,788 90,250 A5, 462
03 Al & 1 HI 84,788 90,250 Nb5,462
OEZHE ANEAR MHE(HaE2)
84,788,000 84,788
e ol SE2eldls g 122,205 126,479 N4, 274
101 @124 4] 41,000 40,000 1,000
M4 IR Z22NSES 41,000 40,000 1,000
OAMEZZE & Adgs 22| 41,000,000 41,000
207 A& H| 81,205 86,479 N5, 274
03 Al & 12 Hl 81,205 86,479 N5, 274
Odel AR HE(0laE2) 81,205,000 81,205
NE S SE2edl= Hg 217,875 225,000 AT,125
101 124 dl 82,500 82,500 0
4 JI2ZtHZE2EXREES 82,500 82,500 0
OAMEZE & Ags 2dae 82,500,000 82,500
207 Ao 135,375 142,500 AT,125
03 Al & 12HI 135,375 142,500 AT,125
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X ZH -
L= B

el

seIIsR JsHg=
HE2AZH (sEI=d Jl=lg=)
J=23Hl(sYII&d JlsHe=)

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
04 EANSHLRF=AH| 13,965 16,530 N 2,565
OZXSAHAIP (M AHEZ) 4,845,000 4,845
O HTI(HAEZ) 4,560,000 4,560
OrSHASH (M AEZ) 4,560,000 4,560




